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a) MESCH S P(A), Pa(B), Pz(B) #k0, MITEZ L.

P(A) = 0.001
P4(B) =0.9
P4(B) =038

b) P(ANB), P(ANB) kK, NNITER .

P(AN B) = P(A)P4(B) = 0.001 x 0.9 = 0.0009

P(AN B) = P(A)Pz(B) = 0.999 x 0.8 = 0.7992

o KEICRELTVWEE LBETHEHNEEZ XTI N0HG2RT 5K
RETHIE L.

o £ (A) 1 (A) Al
Wtk (B) 0.09 % 19.98 % 20.07 %
Kt (B) 0.01 % 79.92 % 79.93 %

At 0.1 % 99.9 % 100 %
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= E(X?) —p?

P A —DRFNVT 4 —F v 7 ORBIZH T5% THDHEVH. ~
FNT A —F v 7 2WATF v VAN 200 HdH-7-L &, ZORYRELE X
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X ~ B(200,0.75) 7225,
E(X) =200 x 0.75 = 150
V(X) = 200 x 0.75 x (1 —0.75) = 37.5

F72, o(X) = JV(X)=/375ThY,
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A aux 10 HRFEbo72 2 &, oS EKE Z &L, 20
LEDPDOxVERE X, yHEEZY 95, DTOMWIZEZ L.
a) Z \ZTHGAMIHED . DA% B(n, p) DR TEE.

Z ~ B(10,3)

b) Z OEIfHEE 5He Ko XK.

E(Z) =10 x
V(Z) =10 x

©) XY #ZNZFh Z DA THA.
10 & D 57 & &, 50 HAMA B 10— Z BROT,

X =2Z+ (-1)(10—Z)=3Z—10
Y =Z+4(-2)(10-Z) =3Z—-20

d) XY OiffEL p#e chehRkeo L.

E(X)=E(BZ—-10)=3E(Z)—10=3x5-10=5

V(X)=V(BZ-10)=3*V(Z)=9x 5 =4 =225

E(Y)=EQBZ—-20)=—-3E(Z)+20=3x5-20=—5

V(Y)=V(3Z—-20)=3%V(Z)=9x % — % =225
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